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M~alxX+a2xW+a3xZ+adxX:W+as5*xX:Z+a6xW:Z+a7xinteraction®
Y~clxX+c2*xW+c3*xX:W+b1xM+b2*xV+b3%xM:V
W ~ W.meanx1l

W ~~ W.varxWw
Z ~ Z.meanx1l
Z ~~ Z.varx/Z
V ~ V.meanx1
V ~~ V.varxV

CE.XonM :=al+a4xW.mean+a5*Z.mean

CE.MonY :=bl+b3*V.mean

indirect :=(al+ad4xW.mean+a5*xZ.mean)*(bl+b3*V.mean)

index.mod.med :=a4xbl+a4*b3*V.mean

direct :=cl+c3*W.mean

total := direct + dindirect

prop.mediated := indirect / total

CE.XonM.below :=al+ad4*(W.mean-sqrt(W.var))+a5x(Z.mean-sqrt(Z.var))
CE.MonY.below :=bl+b3*(V.mean-sqrt(V.var))

indirect.below :=(al+ad4x(W.mean-sqrt(W.var))+a5x(Z.mean-sqrt(Z.var)))*(bl+b3
CE.XonM.above :=al+ad4*(W.mean+sqrt(W.var))+a5x(Z.mean+sqrt(Z.var))
CE.MonY.above :=bl+b3x(V.mean+sqrt(V.var))

indirect.above :=(al+a4*(W.mean+sqrt(W.var))+a5*(Z.mean+sqrt(Z.var)))*(bl+b3+
direct.below:=cl+c3*x(W.mean-sqrt(W.var)) 4/28
direct.above:=cl+c3*x(W.mean+sqrt(W.var))
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labels=Tist(X="X" ,M="M" y=""Y")
pmacroModel (4, labels=1labels)
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Statistical Diagram

statisticalDiagram(4, labels=1labels)
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model=tripleEquation(X="X" ,M="M",y="Y")
cat(model)

M~a*X

Y~cxX+bxM

indirect :=(a)x(b)

direct :=c

total := direct + indirect
prop.mediated := indirect / total
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labels=Tist(X="X",M="M",y=""Y")
covar=list(name=c("C1","C2"),site=list(c("M","Y"),"Y"))
pmacroModel (4, labels=labels,covar=covar)
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M=iy+aX+ fC1+em
Y=iy+cX+bM+ giC1 + ¢2Co + ey
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statisticalDiagram(4, labels=labels,rady=0.06, covar=covar)
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labels=Tlist(X="X" ,M="M",y="Y")
model<-tripleEquation(labels=1labels,covar=covar)
cat(model)

M ~ a*xX + fxC1l

Y ~ c*X+b*M + glxCl + g2%C2
indirect :=(a)x(b)

direct :=c

total := direct + 1indirect
prop.mediated := indirect / total
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labels=list(X="X",M="M",y="Y" W="w")
pmacroModel (7, labels=labels)
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M~X x W
9] 4 & Zojxd v} g,
M~X+W+ XW
o] 21-Z 3] # A%<} intercept, error’} 3+ equation &2 YR H o537} 2o},

M =14y +a1 X+ a2W + a3 XW + ey
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moderator=list(name="W",site=list("a"))
model=tripleEquation(labels=1labels,moderator=moderator)
cat(model)

M~alxX+a2xW+a3xX:W

Y~c*xX+b*M

W ~ W.meanx1l

W ~~ W.varxW

CE.XonM :=al+a3xW.mean

indirect :=(al+a3*xW.mean)*(b)

index.mod.med :=a3xb

direct :=c

total := direct + indirect

prop.mediated := indirect / total

CE.XonM.below :=al+a3*(W.mean-sqrt(W.var))
indirect.below :=(al+a3x(W.mean-sqrt(W.var)))*(b)
CE.XonM.above :=al+a3*(W.mean+sqrt(W.var))
indirect.above :=(al+a3x(W.mean+sqrt(W.var)))*(b)
direct.below:=c

direct.above:=c
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statisticalDiagram(7, labels=labels,rady=0.06)
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'LabelS:'L-iSt(X:HXH s M:HMH ’Y:HYH ’W:HWII ’V:HVII)
pmacroModel (22, Tlabels=1labels)
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statisticalDiagram(22, labels=labels,rady=0.06)
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labels=list(X="X",M="M", y="y")

moderator=Llist(name=c("W","V"),site=list(c("a","c"),c("b")))
model=tripleEquation(labels=1labels,moderator=moderator)

cat(model)

M~alxX+a2xW+a3*xX:W
Y~clxX+c2*xW+c3*xX:W+b1xM+b2xV+b3xM:V

W ~ W.meanx1l

W ~~ W.varxw

V ~ V.meanx1

V ~~ V.varxV

CE.XonM :=al+a3xW.mean

CE.MonY :=bl+b3%*V.mean

indirect :=(al+a3*xW.mean)*(bl+b3*V.mean)
index.mod.med :=a3xbl+a3*xb3*V.mean

direct :=cl+c3*W.mean

total := direct + indirect

prop.mediated := indirect / total
CE.XonM.below :=al+a3*(W.mean-sqrt(W.var))
CE.MonY.below :=bl+b3x(V.mean-sqrt(V.var))
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pmacroModel (11, labels=labels)
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M~XxW x Z
o] & 3| A2 et ¥ vt 2,
M =1y +alX +a2W +a3Z 4+ adXW 4+ abXZ + abWZ + a7TXWZ + ¢
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1abels:1ist(X:"XH,M:HMH,Y:HYH,W:HWH,Z:HZH)

vars = list(name=list(c("W","Z")),site=list("a"))
model=tripleEquation(labels=1labels,vars=vars)
cat(model)

M~alxX+a2xW+a3xZ+a4xX:W+a5xX:Z+a6*xW:Z+a7*xinteraction®

Y~c*X+b*M

W ~ W.meanx1l

W ~~ W.varxW

Z ~ Z.meanx1l

Z ~~ Z.varx/Z

CE.XonM :=al+a4xW.mean+a5*Z.mean

indirect :=(al+a4xW.mean+a5*Z.mean)*(b)

index.mod.med :=a4xb

direct :=c

total := direct + indirect

prop.mediated := indirect / total

CE.XonM.below :=al+ad4x(W.mean-sqrt(W.var))+a5x(Z.mean-sqrt(Z.var))
indirect.below :=(al+ad4*(W.mean-sqrt(W.var))+a5*(Z.mean-sqrt(Z.var)))*(b)
CE.XonM.above :=al+a4*(W.mean+sqrt(W.var))+a5x(Z.mean+sqrt(Z.var))
indirect.above :=(al+a4x(W.mean+sqrt(W.var))+a5x(Z.mean+sqrt(Z.var)))*(b)
direct.below:=c

direct.above:=c

total.below := direct.below + indirect.below
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statisticalDiagram(1l, labels=labels,rady=0.05)
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'Labe'l_s:'l_-ist(lelxll 5 M:HMH ’Y:”YH ’W:HWII 5 Z:"le ,V:”V")
pmacroModel (27, labels=1labels)
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'Labe'l_s:'l_-ist(lelxll 5 M:HMH ’Y:”YH ’W:HWII 5 Z:"le ,V:”V")
statisticalDiagram(27,labels=1labels)

27 [ 28



=22 2|5t lavaan syntax

vars=list(name=list(c("W","Z")),site=list("a"))
moderator=Llist(name=c("W","V"),site=list("c","b"))
model=tripleEquation(labels=1abels,vars=vars,moderator=moderator)
cat(model)

M~alxX+a2xW+a3xZ+a4xX:W+a5xX:Z+a6xW:Z+a7*xinteraction®
Y~c1xX+c2*xW+c3*X :W+b1xM+b2xV+b3xM:V

W ~ W.meanx1l

~~ W.varxWw

~ Z.meanx1l

~~ Z.varxZ

~ V.meanx1l

~~ V.,varxV

CE.XonM :=al+a4xW.mean+a5*Z.mean

CE.MonY :=bl+b3*V.mean

indirect :=(al+ad4*xW.mean+a5%xZ.mean)*(bl+b3*V.mean)

index.mod.med :=a4xbl+a4*xb3*xV.mean

direct :=cl+c3*W.mean

total := direct + indirect

prop.mediated := indirect / total

CE.XonM.below :=al+ad4x(W.mean-sqrt(W.var))+a5x(Z.mean-sqrt(Z.var))
CE.MonY.below :=bl+b3*(V.mean-sqrt(V.var)) 28 /28

< < NN



